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Question Number : 1 Question Id : 7164472851 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33

Where did the first global refugee forum take place in December 2019?

2019 &0ebed’, 200G HDoM 0TV oo 5 & 280007

Options:
New delhi

1, s 7522



Geneva

? & @8dar

New York

3 % ngcdfﬁ&

Colombo

4. & Beoes’

Question Number : 2 Question Id : 7164472852 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33
At which place in the Democratic republic of Congo was the relapse of Ebola virus documented in December 20197

C20z°HS 00DS 8D $oileS’, D AT JeTU DOD BOTDNHH DBRD Eoeb 2019 5" DD Doherdod?

Options:
Alovya

1. v e5asr

Makoni

7w ED

Nvanga

3' ® EF'ISDH

Bindura

A & Dot

Question Number : 3 Question Id : 7164472853 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33



Manuel Marrero Cruz, who was recently in news, belongs to which country?

0O T°gS° DHBDD ESnsita ] 00T 58 D DTI8 DodITCD?

Options:
Estonia

1. = Q%ﬁf\'}tﬁj‘”

Brazil

7 x B2

Russia

3' % Cj-:ﬂ“za

Cuba

A v QJ“?SEJ“

Question Number : 4 Question Id : 7164472854 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33

In which country did the White Island Volcano erupt in December 20197
2019 &r0ex66" DE5 Deroll eafl DOYEI0 D B33065° DT \RD0 DoBDE?

Options:
Turkey

1. = mﬁb

Sudan

7w o



New Zealand

3 v mﬁaaﬂ“o&

France

4.5 &

Question Number : 5 Question Id : 7164472855 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33

At which place was the 54th DGsP/IGsP Conference held in December 20197
2019 &200e0665° 54 o dadnn/ DEdne (DGsP/IGSP) harddo @ piddoes” 2000H7?

Options:
Pune

1. v G

Jaipur

7w Erd

Ranchi

2 % Tod)

Bhopal
4. x EFS

Question Number : 6 Question Id : 7164472856 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33

At which place was the NuGen Mobility Summit 2019 held?
2019 2rE5(NuGen) 200DDS Darddo o DP9 20R0d?

Options:



Lucknow

1 = 08y

Manesar

7 owd

Surat

3. % forod

Mumbai

4 = Swoexon

Question Number : 7 Question Id : 7164472857 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33

The Constitution Day 2019 was observed on:
201965 Tramjor BIGNT™DY & B Jroerd:

Options:
26th November

1. v 26 da0eb

16th September

9w 167006

22nd July

3 x 22wQ



3rd December

A4 s 3 édoedd

Question Number : 8 Question Id : 7164472858 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33

At which place was the 50th Governors® Conference held in November 20197

2019 30e665° 50 & (1D0) G DATFDI0 ) PBF0T” 20A0H?

Options:
Kochi

1 = SRR

Chennai

? % ey,

Hyderabad

3 g TOTEPO

New delhi

A, o Y

Question Number : 9 Question |d : 7164472859 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 1/3
Correct Marks: 1 WrongMarks: 0.33

Which agency/organisation has set up an On-line Child Sexual Abuse and Exploitation(OCSAE)
Prevention/Investigation Unit in India?

ZPOODF0eS” esDTD ere Johs Do) awdoin Sné (OCSAE) Do/ Aloite) RUALLS )] = Da‘e:i)bf 20 Dmv:]e.n
Deobk?

Options:



Central Bureau Of Investigation (CBI)

1 v 200385 2148’ 30 AARIND

National Investigative Agency (NIA)

9y PRIS ADERABD IBIy

National Commission For Protection Of Child Rights

3y POV a0 DBCLR Fdo BPA0T ETVND

Central Vigilance Commission (CVC)

A x PoRS 220Dy SN

Question Number : 10 Question Id : 7164472860 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33

Which of the following agencies has released India Innovation Index?
20b L‘Ja?;f:hu@ﬁ 0l 03 ra.ﬁcl?.irqu Q0TS A DD DGR Derd?

Options:
NITT Aayog

1. ¢ D esairh



RBI

4 % 6D

Question Number : 11 Question Id : 7164472861 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33

What has been India’s ranking in the Global Hunger Index 2019?
tfese5 Erori6 @oZSy(0Dos 58D D) 2019 &° grcedzo ciug), TojoSoh Do?

Options:
1. = 110

7 @ 102
3 % 93

4 = 90

Question Number : 12 Question Id : 7164472862 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33

Bioswales, which were recently in news, are related to:

o0 T°0e° DDDD AeRb SN ADS H0e10H00H0:

Options:
management of pesticides

1. = F$) 00 /abteb TS aﬁﬁﬁbﬁea

railway line management

2 05¢ TR DOGETEd



management of rainwater

3 DGEDID DO R

food items for space

es0e30 50 B0 e5:350 mrTren
4 = &

Question Number : 13 Question Id : 7164472863 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33

Which of the following UN organisations has become the first UN organisation to hold and make transactions in
cryptocurrency?

206 UN “n)o“‘&:-&:reﬁé, 5@"56&’5@5 S Ale ) DO Doy 03I (UN) 20 AT

Options:
United Nations Children’s Fund (UNICEF)

1 v m%gme&g&:sme’ia eeerer D

United nations development Programme (UNDP)

7 % mszgmaaé‘é}mefa fﬂ@&j&g Tﬁﬁgm{]

World Health Organisation (WHO)

g

3« Q0 e e R0

Food and agriculture organization (FAQ)
4 x OO0 D000 DIDICD D05

Question Number : 14 Question Id : 7164472864 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33

Which city hosted the 2019 First Global DXB Challenge related to the fields of Robotics and Artificial Intelligence?
Efai“ebé:] 00050 e59DNONS ROBDEDy GorroH Doedodd 2019 1 Feses &5y D(DXB) erTodan D HiGo

f)dSﬁJDoEDU&:?

Options:



Washington

=}
1. % E_ﬁ“ﬂﬂgr"_b

Dubai

7« oerod

Montreal

3w Qoo

Paris

4 = ardd

Question Number : 15 Question Id : 7164472865 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33

The second edition of *India Myanmar Naval Exercise’ IMNEX-2019 was organised at:

Q0033 S0OATYE THS I5y0yE IMNEX-2019 a0, Soctsd IEDD g e Ddﬁﬁ?n:ﬁ&)éo&:

Options:
Chennai

Visakhapatnam

3. v Df?a::u:re.}la



Thrissur

4 % @F&Pﬁﬁ

Question Number : 16 Question Id : 7164472866 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33

The Shirui Lily Festival 2019 was organised by:
axdroxn(Shirui) B a5 2019a0 D T°50 DOEToD0H?

Options:
Himachal pradesh

1. & TPaTSsS DO

Manipur

9 o 6

Madhva pradesh

Bihar

4w D56

Question Number : 17 Question Id : 7164472867 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33

The 2019 Nobel Prize in Chemistry was awarded for the:

OFPOR TROLH TP, 2019 Sae5 exruand HIED0 waeItod:
Options:

phage display of peptides and antibodies

DRE B0 PATESE(AIFoEPED) g, DE DECHD

1. =



development of lithium-ion batteries

2 v DBOI0-90IFD erjtrde DG

design and synthesis of molecular machines

3 ok O OOTPRY) (PSRN SDO0IL DOTDED

mechanistic studies of DNA repair
4 % CDR) (DNA) 26ee E65 0irods ecjoiren

Question Number : 18 Question Id : 7164472868 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33

INS Khanderi, recently commissioned to Indian Navy, is a part of:
QDL OB TOTEYAS DODD0DN DRI VoL S FEHS" arrio:

Options:
Project -75

1 o 8§75

Project Maritime

7 % FES 20O

Project -100

9 4 &3§-100

Project Suraksha

TPEE 0L
4 ® ~ &

Question Number : 19 Question Id : 7164472869 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33



From which country has India procured Apache AH-64 E(I) helicopters?

ApacheAH-64 E (1) ards°00:0 2168 2 B30 ol Eanfien ok ?

Options:
USA
1. v cinddHd

Australia

Z el lewh
=

Germany

7 « a&d&f}

France

4.5 &

Question Number : 20 Question Id : 7164472870 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33

Which agency has initiated the Project NETRA?
85 SB(NETRA) 20 9 28Iy groodood?

Options:
ISRO

1. v T

RBI

? % 86D



ICHR

4 = SeaTroesd

Question Number : 21 Question Id : 7164472871 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33

Where was the fourth Indian Ocean Conference 2019 held?
2019 Frenfiad arotsr DFHBNE DATDF0 I 2000d?

Options:
Chennai

1. = ey,

Male

Colombo

3w Heoed

Yangon

A s odorie

Question Number : 22 Question Id : 7164472872 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33

Who has been sworn in as the first Lieutenant Governor of J&K?

20, & 50916 200G TRPDES (D6 6P HAPE (TG00 BV T°M JDW?

Options:



GC Murmmu

8
1. ¢ () ECD_‘}CS_'}&

Najeeb Jung

7w HBE moh

Nripendra Mishra

3. & od T

Mridula Sinha

o
4' % B ASLS) c\]g__}"

Question Number : 23 Question Id : 7164472873 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33

Which ministry made an announcement about the Bhartiva Poshan Krishi Kosh in November 20197

2019 220668 erodol T S EH MB0D 2 AoBag T DEL B3od?

Options:
Ministry of Women and Child Development

1 v 0P, B0 DG SR F°D

Ministry of Health and Family Welfare

I % esE i B0 L8008 VOZD DOBB T

Ministry of Home Affairs

3 % 5o DT Qo] T



Ministry of Human Resource Development

4 x AP DML DG DBB] T

Question Number : 24 Question Id : 7164472874 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33

The first ever Indian Brain Atlas ( IBA 100) is developed by:

D0QDOCE QOECDD BOND etrd (IBA 100) D85 9y Saberc.od:

Options:
ITIT, Hyderabad

1. v DODO, TPOTEPS

ATIMS, New Delhi

% % ::}DJJEDJ, a‘m}gd;ﬁ_}

ISRO, Bengaluru

3 & AT, Bordd

ICAR. New delhi

4 x Draesd, 0%y fi";%)

Question Number : 25 Question Id : 7164472875 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33

Dustlik -2019 - a first ever joint military exercise - was held between India and:

8 -2019 - 200eD00cd &a0) G 2D D0 - 2PCBDFe andoin &I a0c3] 28000:

Options:
Uzbekistan

1. ¢ L%Eaé@"ﬁ



Somalia

7 % Vardoir

Iran

Kuwait

4. % 9B

Question Number : 26 Question Id : 7164472876 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33

From which plant is the litmus solution extracted?

Be D groeeo 2 DoE), Aod SI0DEICDER06?

Options:
Lichen

1.+ 239

Boston Fern

), SRO6)

Coral bead
3w DO (S HE)

Aloe vera

A = Sewod

Question Number : 27 Question Id : 7164472877 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33



Which one of the following statements is NOT correct?

306 DEEIHDE” DO DDA T?
Options:

1. =

When an acid reacts with a metal, hydrogen gas is evolved and a corresponding salt is formed.

2.8 €330 550 365 2BDDDNED, e arodnad) &5 D00, 0eI0HS VD0 L‘Jcﬁ;}mmo&.

2. %

Acidic and basic solutions in water conduct electricity because they produce hydrogen and hydroxide ions respectively.

DS’ €353 DBAID O FrarFed DEFEIR DOETF0D oS0 €92 WA FPERD 000K TPEEYE oIrHD
€694 SJrow.

Living beings carry out their metabolic activities without an optimal pH range.

3 ZaPED B BHZAD TOfETrTTTO VB DD (pH) DOG S0t DEEPFFON.
. v

Salts have various uses in everyday life and in industries.

oorey Terard 2005 b0 DOZOET DIG endirTren SDA Gotrow.

4 =

Question Number : 28 Question Id : 7164472878 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33

Which of the following pairs is NOT correct with regard to measurable quantity and their respective unit?
Feoarie D080 20d0in ared 03D (D070 )£ Doerodod) S0d adees” D HOHO ST
Options:
Temperature-Kelvin

1 = egﬁga g=UNS)

Length-Metre

7w TEDH 06



Mass-Kilogram

7 « BOTI-3S TPOw

Weight-Pascal

4 v £ - i&ﬂ“ﬂbeﬁ

Question Number : 29 Question Id : 7164472879 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33

Which of the following is NOT correct?

3of Tred’ DO DOHE TED?
Options:
Matter is made up of small particles.

1 = DGO DY SEPe)dd GraTobooecod.

2. %

Scientist now talk of five states of matter: solid, liquid, gas, plasma and Bose-Einstein condensate.

TRDQ QDE DEFGo GV, DD PBOD: TN, G, TTOIY). o), S00a3D e -0 EoZdye (B0
STEFCOBOT B

The states of matter are inter-convertible.

DEPgo OIVE), ?gmm @omﬁ—gmggmej{m@smagbomo].

3. =

4, v

The 2005 Nobel Prize in Physics was awarded for achieving Bose-Einstein Condensation.

e5° i}—ﬂ)éfg% éoﬁfhj&ﬁ (FrodE0E0) FHotDocE) 2005 &° g 305" Jaed eimand ododod.

Question Number : 30 Question Id : 7164472880 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33



In which year did John Dalton present his atomic theory?
D YN B DOATEW DT 2 oSG0 DEOB YT ?

Options:
1. v 1808

7 % 1908
3 % 1886

A % 1893

Question Number : 31 Question Id : 7164472881 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33

Which of the following scientists discovered electrons?

308 FTRDBOS” DD JUTR Sy ?

Options:
Albert Einstein

1. = E_‘E"E‘_JE}Q 33.5%_335

J Chadwick

7 % & Td&é

JJT Thomson

3 v & IZF&TIJDEJ

Stephen Hawking

A % BOD Db



Question Number : 32 Question Id : 7164472882 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33

Who is the author of the book “Pale Blue Dot: A Vision of the Human future in Space’?

DS Ew° TEEd: o) Daad e & Ejﬂ:rﬂémﬁ @"51515 Qe ?ojo’ aDE G0 D7

Options:
Vikram Sarabhai

1. = @50 JFoerod

Carl Sagan

AR B‘*{é PRI

Albert Einstein

5
3 % E_‘E"E‘_J&Q 335%35

Homi Bhabha

4, x FD e

Question Number : 33 Question Id : 7164472883 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33

What was the name of the lander of Chandrayaan -2?

S50G0IFD -2 030E), Tm5ocid DO IDE?

Options:
Vikram

1. v 95

Pragyaan

2. % OO



Gagan

3w 00

Antriksha

4 % es080L

Question Number : 34 Question Id : 7164472884 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33

Which of the following is NOT correct about Cartosat-3 mission?

Sﬁgﬂ“eﬁ -3 DR BN S0d TS’ IO DTHA TPE?

Options:
It was launched from Satish Dhawan Space Centre (SDSC) SHAR. Sriharikota.

1 % @O FFOERS’D DAD THD 3D od a6 ol FrdoDoSeod.

2. %
13 commercial nanosatellites from USA were also successfully injected into the designated orbit through Cartosat -3.
CI0IRD Aod 13 Treay TS-TOOL Sy TFJES -3 T(Tr oot S£565°8 DachdoderT

eI IEITTRO).
e ) [y

3. %

Cartosat-3 satellite is a third-generation agile advanced satellite having high resolution imaging capability.

sE e -3 edgaro hs BRATPINN Q0o ﬁvmgﬁo SHADR) DITPED BOO MBS VRSB EDITo.

India’s PSLV-C40 successfully launched Cartosat-3.
4 v oSBT 0308, DINID-D 40 =FIE -3 A D200 PATHODA.

Question Number : 35 Question Id : 7164472885 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33

Which PSLV launched the RISAT-2BR.| satellite?
=) -2Des51 emﬁ::.ﬁ:::l DO3PH0NR DIDIETD IE?

Options:



PSLV C-47

-47

E’Ilb

1. % 2IDISD

PSLV C-48

7 ¢ DIDISD L -48

PSLV C-26

4 % DIDISD L -26

Question Number : 36 Question Id : 7164472886 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33

Which one of the following is NOT correct about the Brahamos Missile?

& Sod OGS IO 8330 4068 BN DJHG T?

Options:
It is a supersonic cruise missile with a capability to attain speed of Mach 2.8.

1 = abd ‘Ors 2.8 ey STocirie) ﬁmgéo =l R}Fbﬁfﬁbé Ewond &6,

It is a joint venture between India and Russia.

7 b erCadTo aubain dﬁ“ﬁ S0E§I0 2300085 Docsb.

3. %

The first version of the Brahamos supersonic cruise missile was inducted in to the Indian Navy in 2005.

£330 VDT IS Erond £Ded 0Tng), DoeEd DES 2005 &° ercd TITEVeS” Soyertod.



It can be launched only through submarines.

4. o BTOOTEN0 T HGRD HID PAIFAOSIDY.

Question Number : 37 Question Id : 7164472887 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33

Who was the Viceroy of India at the time of partition of ‘Bengal’ in 19057
1905 €5° ‘Eorrey Dafand Danaioeed” eroe Parod) JOM?
Options:

Lord Curzon

John Strachey

aaﬂ.%gﬂé’)

Lord Napier

7 4 ©gddaws

Lord Lytton
. % 0 DD

Question Number : 38 Question Id : 7164472888 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33

In which year was the Sadler University Comumnission appointed?

5 Jnte DIDTHOOD EDND ) E}o&&@gdneﬁﬁ DoBDoEIEH?
Options:
1. « 1917

7 % 1910



3w 1925

A % 1933

Question Number : 39 Question Id : 7164472889 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33

Who is the author of the book “Poverty and Un-British Rule in India?

o) ok D-DBD ErS @D QoA S GcI0NE JaDH?

Options:
KC Wheare

1. & 35 DHod

Bipanchandra

7w DO Do

RC Dutt

3 % 60 Gh

Dadabhai Naoroji

1. v Twrercd JTOR

Question Number : 40 Question Id : 7164472890 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33
The National Cyclone Risk Mitigation Project aims to upgrade cyclone forecasting, tracking, and warning systems,

build capacity in multi-hazard risk management and to construct major infrastructures including multi-purpose cyclone

shelters and embankments, covering which of the following states in Phase-1?

QRS PES 87, DoABDR JFrBE B0rAD 0D, grdoh BT 8¢ DDROD VDHE DADEL0, LEFOF-DDATE
DOGETeaes” avmgnéﬁi DoToBODED) VEJOTT DD VOO LTVF-DOTTRR B e53057en SOOI
SOl D08 PEEd HIFDS DEArOIPOR DB odco B HE -1 &5, 208 J oo 556 SRood?

Options:



Goa. Andhra Pradesh and Odisha
1. % O, B90gHBT HBOSW 207

Kerala, Andhra Pradesh and Odisha
7 % S0Y, ©odnid? aodoin wiwr

Andhra Pradesh and Odisha
3 ¢ BoGDHT 00D 2CT

Odisha
4 =& wlw

Question Number : 41 Question Id : 7164472891 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33

In which year the East India Company acquired the Nellore region - comprising the present Nellore and Prakasam

districts - and a part of the Chittoor district from the Nawab of Arcot?

€0 QOC.OIT oD, DS VYIRE HBOKD VT 2O DAY DUPW Jrommdy - BT DBFW 2erd”
S0 D) €507 65 dares Aod o) mDﬁ@gﬁD@G 38006 ?

Options:
1. = 1652

7« 1781

3. % 1833

A % 1855

Question Number : 42 Question Id : 7164472892 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33

In which year was the Madras-Karachi Air Service linked to Hyderabad with Hakimpet as landing ground?
SOETPR-STP0) Dod DB TaTerdE 33006 @ erjodod FTolTr 2 DoDTB0ES” RVTEA0SeIE0d?

Options:



1. « 1935
7 % 1919
3. % 1909

4. % 1915

Question Number : 43 Question Id : 7164472893 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33

What was the title of report of second administrative reforms commission (Government Of India) on personnel

administration?

23306 DBFVJD Bottd DOTFORT VoG8 EDND (2P0 HELAE) VS, DDOS 20E(£3635) DDed?

Options:
Improving the Personnel Administration

Q0000 O DOYIS e DRND (e300 DBTFD DEOMDDOE0)

2. %

Enhancing Personnel Administration: Some Insights
Dgﬁ;}oﬁ E}GJFGEE @i&ﬂf@ﬁé: e @E‘:}Eﬁg (‘?\'Jﬂaao& DOTOI E}&Qﬁ&iﬁ@: g :};l P_ﬂoég&a}_‘lw}

3.v

Refurbishing of Personnel Administration - Scaling New Heights

5083000 €3D DOYDE IELIPAD - ) Dol A7y 5765y (Vexyod DBTFOD 030G DRAWEOE - 5 IGow
e9y0 a0t ) =

4. %

The Future of Personnel Administration - Way Forward
& Qrgesb 9D DEYIS 9 VNN — D ﬁ“@ﬁg (Peayod DBFOD 0308, BDDGBO - an8 Hs050)

Question Number : 44 Question Id : 7164472894 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33



Which article of the Indian Constitution deals with the separation of judiciary from executive?

U DOTFOD 0é D BONE HBOLD PG T°a{oroes D 2 395ES HIDTE0H?

Options:
Article-50

1 o 955 -50

Article-43

9k QLS 43

Article-47

gy GRES -47

Article-40

A % ©QES -40

Question Number : 45 Question Id : 7164472895 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33

Under which article of the Indian Constitution the term ‘annual financial statement’ 1s mentioned?
TPOS Trarjoiod’) D &858 806 ‘o708 505 DO’ 9D DL DI DoTrd ?

Options:
1. = 110

7 % 102

3. % 120

4 v 112



Question Number : 46 Question Id : 7164472896 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33

In which year was the Pradhan Mantri MUDRA Yojana (PMMY) launched?
VTR 0oB G CIrad(20T00DeD) ) VDB G0eS” Frdododedod?

Options:
1. = 2014

? % 2017

3.« 2015

A = 2019

Question Number : 47 Question Id : 7164472897 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33

The ‘Pradhan Mantri Matru Vandana Yojana® (PMMWVY) was implemented/launched from/in the year:
DD D00 TGy HDocd 6372 (D0HoceID) D DodEGo &7/ Mod aen Bobedod/ Froodosetod:

Options:
1. «+ 2017

7 % 2011

3 % 2015

A = 2014

Question Number : 48 Question Id : 7164472898 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33

Which part of the Indian Constitution deals with the subject of citizenship?

2CED Uﬂaﬁnéoﬁoﬁﬁﬁ‘i) D 2P0 ﬁ!‘“dﬁ@“&bé 2083060056 ?

Options:



PARTII
1' « ardo ll

PART III
2 % erto i

PARTV
3' w 2rtio V

PART VII
4 % oV

Question Number : 49 Question Id : 7164472899 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33

Which one of the following subjects is NOT a part of the union list?
Sof esozeeres” oTPDAD OD(Soss ardere)ed” DO ertio T ?

Options:
Foreign loans

1. = D3B3 corren

Reserve Bank Of India

2 % Eree.ﬁg &Tﬂéoé e9s) ROCLOIT®

Post office savings bank

3« DR 920 2Dofy ergos

Markets and fairs
4 v mﬁa’ggj Fabalonhh) a:raaﬂgj

Question Number : 50 Question Id : 7164472900 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 1/3



Correct Marks: 1 Wrong Marks: 0.33
Which one of the following articles is NOT covered under the third schedule of the Indian Constitution?

& 800 e305e5 &5° DA ePoed U“Eﬂ“ﬁﬂﬁ@ﬁy.a S00PEED ACETYS OO Fen?

Options:
1. = 75(4)

7 % 99

3. % 188

4. v 213

Question Number : 51 Question Id : 7164472901 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33

Which article of the Indian Constitution deals with the abolition or creation of legislative councils in states?

orroes” FORAW0EdD e Batico T VyRoSEo HBOD PGS Toarjoriod™D 2 e85 DTN ?

Options:
1. = 148

7 v 169
3. % 123

A % 156

Question Number : 52 Question Id : 7164472902 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33

In which vear was the National e-Governance Division created by Central Ministry of Electronics and Information
Technology?

DTS S0O0ID PONGLND 57 02 Sogd D0 T 20D Q-(100Y Oy DEFTPDY ) 20005 32100007
By Ny % 2R S fLEA A} o el

Options:



1. v 2009
7 % 2004
3. % 2002

4. % 2001

Question Number : 53 Question Id : 7164472903 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33

Which one of the following is NOT an e-government project of the state of Andhra Pradesh?

S0HT RS IO eogHDT T°R) @-(100) ot B °07?

Options:
e-Pragati

1 % @‘Qﬁ@

Meeseva portal

2 % DomdaT ﬁg@

APSWAN

3' ® 35.]5“5:5

E-mitra

4 v T

Question Number : 54 Question Id : 7164472904 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33



What was the growth rate of Gross State Domestic Product (GSDP) of Andhra Pradesh at constant price (2011-12) for
the year 2017-18 ( FRE )?

2017-18 (FRE) Rodenomds ?gc &6 (2011-12) 5 Doeodod) e30000% Q00 T B0 eona (GSDP) E Bew
Joes? L

Options:
1. = 9.20%

7« 11.32%

3. % 6.96%

A % 10.40%

Question Number : 55 Question Id : 7164472905 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33

Which of the following districts is NOT a part of the north coastal agro climatic zone of Andhra Pradesh?

& 300 2" IO LoEHBT DY), &S0 e} DOT0D TEOCE D00 P SE?

Options:
Srikakulam

1. % 3=°tovo

Vizianagaram

7w D:aidico

Visakhapatnam

3' “ Ej?ajﬁ.}e.}lo



Chittoor

4. v DEr®

Question Number : 56 Question Id : 7164472906 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33

In which Indian state is the Haldia port located?

o L0 2 g0 T'ed” God?

Options:
Gujrat

1. = raocd

West Bengal

2 ﬂ’? ?;.}%}(:)6:1} ForTed

Odisha

3. % aldar

Tamil Nadu

A = oDV

Question Number : 57 Question Id : 7164472907 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33

In which vear did the nationalisation of 14 commercial banks take place?

14 E.PE’%&E:?S eFjoSI0 2S00 ) ‘:boajiébﬁoe_‘f 200067

Options:
1. v 1969



7 % 1972

3. % 1965

A s 1977

Question Number : 58 Question Id : 7164472908 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33

What is the rank of India in the Human Development Index of 2019 released by United Nations Development
Programme?

m550°aa§“ﬂ§l)e? e:rif);gjgr S“dggmo DEIGE DS 2019 577080 @@E}a% 2ardLes” eroadido cﬁ_usb D‘@Og oes?
Options:
1, 129

3. % 138

A % 120

Question Number : 59 Question Id : 7164472909 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33

In which year was the NITI Aayog established?
DD 50077 &) VODSNC0S” FoseICod?

Options:
1. v 2015

? = 2017

3. % 2012



A % 2013

Question Number : 60 Question Id : 7164472910 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33

Mount Koyob is located at:

g ained Ejd:}éjc ‘EQEJQ &0b:

Options:
Lakshadweep

1. « E_JL%&SE:}

Andaman and Nicobar Islands

7 ©oEAF dain DS Hapew

Manipur

9 & 6

Himachal Pradesh

A, x TETSS DOF

Question Number : 61 Question Id : 7164472911 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33

Which coastal region has got certain distinguishing features known as ‘Kayals’?
2 B0 Frowrd3 ‘SPolesy 99 Dendd §I) DINZOM LLEFL ST 007

Options:
Kathiawar coast

1. % &Qcirad €60



Konkan coast

7 % Fo&d ddo

(30a coast

2 x Hoe doo

Malabar coast

4.« Sowerd &co

Question Number : 62 Question Id : 7164472912 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33

How much of drainage area in the Indian drainage system is oriented towards the Bay of Bengal?
ZPEBOD DMV HORS® LTV TGO DIDD FHGEL DJGo Jotd e08?

Options:
1. % 60%

7 % 23%

A = 40%

Question Number : 63 Question Id : 7164472913 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 1/3
Correct Marks: 1 WrongMarks: 0.33

Which river is known as ‘Singi Khamban’ in Tibet?
E365e5°D D HOD oh woed’ €9 esotdd ?

Options:
Chambal

1. % <oeed



Brahmaputra

7 % Aoy RS)ls

Ganges
3 % dod

Indus
4.« 20608

Question Number : 64 Question Id : 7164472914 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33

According to Koppen'’s scheme of climatic regions of India, what does ‘E’ represent?
P0G TP 200D DESZLD ToyY D500, Q(E) G2 2rded?

Options:
Monsoon with dry winter

1. % T Iorsreed MevDoOTTeD

Hot desert
2 ® &é&ﬂﬁ“@

Polar type

3 o OO 6o

Monsoon with dry summer
4. & TE DHIE mevDodTTeD

Question Number : 65 Question Id : 7164472915 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33

In which state of India does the river Luni originate?

D) HO PN F0ed” D U‘*E&o@ﬁ &5 DoDod?



Options:
Nagaland

1. &= ~rmrero&

Rajasthan

7 v U”E&rg!“.%

Sikkim

3' ® hébﬂ

Tamil Nadu

A % SOV

Question Number : 66 Question Id : 7164472916 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33

In which year was the Central Arid Zone Research Institute (CAZRI) established?
20085 ©0& &' 86y @adearyes (CAZRI) D DodeGoes” g"ﬁ}mﬁmdoé?

Options:
1. = 1985

7« 1959
3. % 1971

A % 1965

Question Number : 67 Question Id : 7164472917 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33



The Rann of Kachchh is part of the state of:

6D 8D 58 & TR arro:

Options:
Punjab

1. % Doawed

Karnataka

2. % gg“ﬁ}g

Gujrat

3 v haod

Goa

4 = Bor

Question Number : 68 Question Id : 7164472918 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33

The river Bharathapuzha flows mainly in which state ?

HOBDY DO PR 2 T°0e° DDTFR0H?

Options:
Kerala

1. « ZSow

Himachal Pradesh

P x ETSS DO



Bihar

3w D6

Haryana

—r

4 & TOFT

Question Number : 69 Question Id : 7164472919 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33

In which year was the Project Elephant launched?
FEE D05 D DoDdBG0eS” FrdoDoserdod?
Options:

1. « 1992

7 % 1985

3 % 2003

A % 2005

Question Number : 70 Question Id : 7164472920 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33

Which biosphere reserve is a part of Delta of Ganges and Brahmaputra river system?
(o™ 0BT LY ENG DITHT oS D ;}5@@6‘5 ZPADOSD 03770006 B IB?

Options:
Pachmarhi

1 & ?;.)5&1}9

Nilgiri

7 % Dohd



Sunderbans

3 . “&1)0{;‘:{5&5:}

Agasthyamalal
eate) T

4. % D

Question Number : 71 Question Id : 7164472921 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33

From the following states, which one usually witnesses the *blossom shower’?
080 DO6 &0 FEoeoTr 30 Trarod” D& rRod?

Options:
Kerala

1. « Bow

Rajasthan

2 x UD::&:Q?.%

Nagaland

3 & omrerol

Punjab

A = Doawed

Question Number : 72 Question Id : 7164472922 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33

Which type of soil is also known as ‘regur soil’?
2 GERVD DO BrDO Dey €9 SIee DeDJW?

Options:



Forest Soil

1. & e0d Je

Laterite soils

7 % OPeIDE Jeen

Arid soils
3 m%(meg}éum

Black soil
A v mgﬁﬁ& e

Question Number : 73 Question Id : 7164472923 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33

In which year did the World Conference on Disaster Management at Yokohama take place?

CIrEHFares” DDGY OGP PDOS DATDF0 2 DoDB B 2060007

Options:
1. v 1994

% % 1999
3. % 1997

A, % 2001

Question Number : 74 Question Id : 7164472924 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33

Which one of the following is not an atmospheric natural disaster?

S0H7°0e° DO TPEEH0R DED Dad) T ?

Options:



Blizzards

1. % avocH eoaraven

Lightning

? % Fablebre)!

Hailstorm

3 g G006 7o)

Earthquake

4 #orSoo

Question Number : 75 Question Id : 7164472925 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33

Which among the following decades was declared as International decade for Natural Disaster Reduction (IDNDR)?
Zod TS D FTEPD) . WoBTAOD PHS DDV BRoRY Fo(IDNDR) ™ H8Bomd?

Options:
1. ¥ 1990-2000

7 % 2001-2010

3 % 2011-2020

A % 1971-1980

Question Number : 76 Question Id : 7164472926 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33

The Indian Tsunami Early Warning Centre (ITEWC) is located at:

QOO TN I8 T8y o powxd (ITEWC) a8 eob:



Options:
Hyderabad

1. v TCETEPE

Chennai

? % D0y

Kochi

3« SRR

Mumbai

4 W EIDOQ

Question Number : 77 Question Id : 7164472927 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33

Who is the Chairman of the National Disaster Management Authority?

2RO DG DO TOH TI0E), BOLD DD ?

Options:
Prime Minister of India

1. v ZOD DTFd00E

Home Minister of India

7 x 2P0S FFo dvod

Finance Minister of India

3 rAaLlels] ﬁgé a00g3d



Defence Minister of India

A w DO 6L D008

Question Number : 78 Question Id : 7164472928 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33

The *three mile island’ nuclear accident took place in which country?
'8 2085 Derol (D0 DY &D0) eog PTG D 305" 2800H?

Options:
USA

1. ¢ cindRd

Japan

7w 2ard

Australia

EFenBI0IT
=

France

4.5 &

Question Number : 79 Question Id : 7164472929 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33

Which one of the following is NOT provided by the Bhuvan disaster management support services of ISRO?
) 03008 2500 DGV DO DGBL DD & Sodd Tr3e5° BDE ev0bodSTE?

Options:
National database for emergency management - NDEM

1 = D0 DOLETED 250 araiot cersn - NDEM



Drought monitoring

7 % Scda) ;}ﬁéi}u%m

Near-real-time flood monitoring
3 DoB6 -H00S-Bi0 nE ardebod (D06 ;:u:i?gaiaea)

Early nuclear hazard warning service
DB o Saind srard ae8y 0f 8D (P00 earad 2aTPE 3O 2:9)
4 w”"‘? 2 25'-"‘-' &5 ;L 5 = by t:l

Question Number : 80 Question Id : 7164472930 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33

The National Institute of Disaster Management (NIDM) is situated at:

A0S R e C.ard D) 065 (NIDM) QL) S0l

Options:
New Delhi

1. v 37588

Jabalpur

2w eeje.}mgﬁ

Pune

I x P

Surat

A w Rrcd

Question Number : 81 Question Id : 7164472931 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33



Which one of the following activities is NOT a part of the post-disaster phase?

& 500 SE[Serarod” DO DDGL LDoBCo BDE 33 Zrrio TE?

Options:
Recovery

1 = ?méﬁaao(mﬁ@ Toticio)

Rehabilitation

7w ANAITREITRI0

Reconstruction
3 % @éﬁimémo

Prevention and mitigation
A« Darc Soboin DTNV

Question Number : 82 Question Id : 7164472932 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33

In which year did the Latur earthquake struck Maharashtra?

PBTE 2PE000 TFTPRES” D VoI008 DoZD0D0H?

Options:
1. = 2005

7 % 2010

3.« 1993

A % 1989



Question Number : 83 Question Id : 7164472933 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33

At which place is the National Remote Sensing Centre (NRSC) headquartered?

D0 B 2Dyoh Potd (NRSC) Hord storjoaio 2 POP0Y” &od?

Options:
Hyderabad

1. v TETEPE

Jaipur

7w B0

Amritsar

3 x ©aRHd 0

Agra

4 = O

Question Number : 84 Question Id : 7164472934 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33

In which year was the Sendai Framework for Disaster Risk Reduction adopted by the United Nations member states?
DHSO AT Bfodd Vo053 DVFONTT D DETERDIA D] BT ) VoDt T ?\}SQSDG“OJJ?

Options:

1. = 2013

7 & 2015

3. % 2010

A % 2012



Question Number : 85 Question Id : 7164472935 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33

Who is the author of the book *Silent Spring?

20T085 20 INVE G0 JHED?

Options:
Rachel Carson

1 v el sﬂcﬁn‘}é

Linda Buck

? % Do eb

Greg Semenza

3 86 2oy

Peter Ratcliffe

000 TN D

4 =

Question Number : 86 Question Id : 7164472936 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33

In which year did the Brundtland Commission give its report on sustainable development?

FON0 DA £0GLF0E SN VD DDHS ) VoDBNG0S” Qyob?
Options:
1. «+ 1987

7 % 1991

3. % 1980



A % 1982

Question Number : 87 Question Id : 7164472937 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33

In which year was the agenda known as “Transforming our world: the 2030 Agenda for Sustainable Development’
adopted?

R0 DG FODH a0 DDoeed) Srcyco: Bor 2030 0 HendeE B0t J DoHTGoS” yEbocetod?

Options:
1. & 2012

7 % 2019

3. % 2017

A« 2015

Question Number : 88 Question Id : 7164472938 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33

Which one of the following is NOT a Sustainable Development Goal (SDG) adopted by the United Nations?
S0d THS” DO DETRFIDS 2{EBDD AR D oo (SDG) & 258 s e?

Options:
No poverty

1. = Eelalel=le f}dﬁéoé

Zero hunger
7 x &80 8D (88 rorid)

Gender equality

3 % Doy R}ﬁ]"ééﬂ&ﬂ



Conflict free outer space

1 v 20zges T L0 Frodo (525 & b YD)

Question Number : 89 Question Id : 7164472939 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33

In which vear was Agenda 21 - a comprehensive plan of action to build a global partnership for sustainable development
to improve human lives and protect the environment - adopted?

@t 21 - rdDd DTV TEIDDOTEIS O DTYDOEFD) DOCLoBE"IS LG Do Eo DD
PASP(RATD) DB)oeSEmDS D SO0 PEFDS - D DoDSGoeS’ 905560&&(10&:?

Options:
1. « 1992

7 % 2005
3. % 1990

A % 1988

Question Number : 90 Question Id : 7164472940 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33

Which of the following definitions is given by Brundtland Commission about sustainable development?

m}?gd Eﬂ@&’}&g (DBoL) g1oGerol SDNN S J0d e 2 QOSTPDY Aedyod?

Options:
The earth has scant resources, so they need to be spent wisely.

Hransd @8 O Saden eaaEy 0, SUe8) e O i o).
1 w Zﬁ :l, £ z}a

2. ¢

Development that meets the needs of the present without compromising the ability of future generations to meet their
owln heeds.

DD ST B DO VDTV éid&ﬁu .ﬂ“.mg“{jﬁ)é TFed D0 DR SUPe P 900D écﬁt)r‘iu DB,



Earth has everything for human needs but not for their greed.

J x TP QD 9DVTVL D020H0DD VA DDA I T 7B Edo P,

Development is an all-round activity.

4 % oD@ R 2.5 DYS SAy.

Question Number : 91 Question Id : 7164472941 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33

In which year was the United Nations Environment Programme (UNEP) established?

DETRIDDN DO§O6E SojEae (UNEP) o) Fonﬁe:‘abdoej’ﬁ Q"ﬁ:mmdoé?
Options:
1. % 1985

? % 1977
3 % 1975

A » 1972

Question Number : 92 Question Id : 7164472942 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33

In which year was the Environment (Protection) Act of India enacted?
POBBT DOD0e (DosLes) o ) ma:;ejbcsoeﬁ" 295308 DODEE0H?

Options:
1. « 1986

7 % 1990

3. % 1992



A % 1994

Question Number : 93 Question Id : 7164472943 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33
The Montreal Protocol - to control the emission of ozone depleting substances - was signed in the year:

LES L00 DTTO &IFTCOR DDt B0 aroHoies e g LoDdBy00eS” Dot Saecod:
Options:
1. «+ 1987

7 % 1991
3. % 1972

A % 1996

Question Number : 94 Question Id : 7164472944 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33

Amrita Devi Bishnoi, who sacrificed her life for protection of trees, belonged to which modern-day Indian state?
D) DOCLELE) JresTriio B ey 8D DITF0D J e3CLIE 0B TrePIS BodJTM?

Options:
Harvana

-

1. % MJSHD

Punjab

7w Dozeed

Rajasthan

3 v G"&’:g“.%



Madhya Pradesh

Question Number : 95 Question Id : 7164472945 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33

What is eutrophication?

0dreS S0 €9063 DD ?
Options:

1. v

Eutrophication is the natural aging of a lake by biological enrichment of its water.

CTES DI 2063 DOy IS, O BT VoL DJIMVD FEB0 BODVE TO DO T2 SNAEUI

It refers to the increase in the concentration of the toxicant at successive trophic levels.
7 % @A HWOD DE(DNE BoTrro) Qummeﬁﬁ DORITOH JFoGE DMMGOR DTFOV0A.

It is the process of increasing soil fertility.
3 % Q28 Do FCH0TDy Do PIOD.

It is the process of restoring a forest that once existed.

Ay B0 2SDY0 &) 0EdD DIDEBD HIAD.

Question Number : 96 Question Id : 7164472946 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33

Who among the following was closely associated with Chipko Movement?

08 705" Do zf‘_":if‘aK emémcﬁ 68 Woeoco SOF ey M?

Options:
Rajendra Singh

1. = TEogd 2oh



Sunderlal Bahuguna

7 F00beTES BRI

Arna Roy

3. % eathrroeod

Vinoba Bhave

4 x DJererDd

Question Number : 97 Question Id : 7164472947 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33
The thickness of the ozone in a column of air from the ground to the top of the atmosphere is measured in terms of:

2P0 00c TEEDHEEB0 PIPTPIS TPD HWRVG L&D 3E), dvoto & Dorr Fendrtd:

Options:
Dobson unit

1 v E::UE.JDE) odaeDeS

Decible unit

7w  Geoewed ofarded

Dolby unit

3« r::@a adaees

Mach unit

4 = &S oo

Question Number : 98 Question Id : 7164472948 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33



In which year was the Johannesburg Declaration on Sustainable Development and the Plan of Implementation -

adopted at the World Summit on Sustainable Development in South Africa -published?

Girrasees R0 DB Do REANS” SArB00IESD 2020 eddyd 0BT ML DEFPSH &) ded
RSO D DoDBG0E” HeBocIeCod?

Options:

1. «+ 2002

7 % 2005
3. % 2011

A % 2013

Question Number : 99 Question Id : 7164472949 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33

Who is the author of the book *Small Is Beautiful™?

'5“&&5 &S PN DVE oS JAW?

Options:
Alice Munro

1. = @90 3

Doris Lessing

2 ® Eﬁfﬂ Ejgb‘:}ﬂﬁ

EF Schumacher

3. v Padad TaES



Toni Morrison

4. % 65D 28O0

Question Number : 100 Question 1d : 7164472950 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33

In which year did the bifurcation of Andhra Pradesh take place to carve out two states of Andhra Pradesh and
Telangana?
B0t Trgren e0ENGE HB0IL BOOTPEFORD UFTOB0TTIS 50GNBT GIVE) DD D Do 28H0H?

Options:
1. = 2017

7« 2014
3. % 2012

4. % 2016

Question Number : 101 Question Id ;: 7164472951 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33

Who headed the committee constituted by Union Home Ministry after the bifurcation of Andhra Pradesh to study the

alternatives for a new state capital?

500007 A QR0 BhorS §'¢ U7y TrarrdS DIR{arT) 00D ©963[0iR0 BabirdS Sod o 0BG T
DT BRD EDBS IDW IGES DaToTTm?
Options:
Ajit Doval
1. % esr2d Soe5

GC Murmu
9 % 2200 BOWY



KC Sivaramakrishnan

3 o 5.0. 30T SN0

RC Lohati
4w es62 5%5re

Question Number : 102 Question Id : 7164472952 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33
According to the Andhra Pradesh Reorganisation Act 2014, who has been empowered with *special responsibility for

the security of life. liberty and property’ of all those who reside in the Greater Hyderabad Municipal Corporation
(GHMC) area?
e300 DT f@aé&éa?ggdm 3830 2014 9760, {026 FPETErS D0IVDES TBOD (GHMC) Frovoss® Dotod

T00c508 ‘BDB0, Py BTN &R G o RB(S EPGE' WSy 0500 JDBS €od?

Options:
President of India

ALeE) U“E;%{E]@

1. =

Governor of the state

U";& ﬁaci;lﬁ

Prime Minister of India
Iz PPOS DTS

Home Minister of India
A % 208 Fo 00

Question Number : 103 Question Id : 7164472953 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33
Which part of the Andhra Pradesh Reorganisation Act 2014 deals with the apportionment of emplovees - all-India

services and state government emplovees in local, district, zonal, multi-zonal and state cadres - between the two states?

e30DDT @édﬁéﬁ?gédw 380 2014 &°D 2 exrio. Bocd Togrer D6 guf:)s, BT, QVOED, EETVF-V0ER 0BT

oiS| ‘g“cmveﬁa Do 2PoS DD MBI T DELS] &S DBRIF DL ?



Options:
Part VIII

1. » et VIII

PantV
2' w 2rtio V

Part II
3. % 2»co ll

Part IV
4' % 27o IV

Question Number : 104 Question Id : 7164472954 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33

Which of the following is mentioned in the Section 95 of Andhra Pradesh State Reorganisation Act, 2014 ?

& 30d DS DB SoFNBT TR @éﬁség%gdm o, 2014 &) 208D 95 &° 0B Ddeakod?

Options:
The division of districts as per the decided formula.

1. = QG0 PEFPS HSPC0 BP0 DEiw.

2.

Equal opportunities for quality higher education to all students in the successor states with reference to Article 371 d for
ten years.

5055 371 d & DBY Jrewn DAFDO TS’ D Drjeoonds TP €:9) 6 DO DAFD BITTRD.

The revenue sharing formula as envisaged by finance commission under Article 280.
7 % e505e5 280 3005 POy SDDR EP0DD DGSOTT STFAD DODY @m@g(&m&@u).

The sharing of river water as per the decided formula.
4 = G0N0 PEFPS (AL er) Y500 DO B DoHE Heko.



Question Number : 105 Question Id : 7164472955 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33

The Andhra Pradesh Rural Inclusive Growth Project (APRIGP) is being carried out with the help of:

e50G0DT (0 Rosrae 08 Fra9H (APRIGP), £ dfaioed DOG00:

Options:
World Bank

1 v FOTe ot aﬁéoé ( 8 leld) Wéog}

Asian Development Bank
I % 503" DD erfod (L5008 BV 06 erfos)

3. %
Organisation of Economic Cooperation and Development
50S DTS00 20O DA V0P (STDEND B SIS FGDTOD ol EHVDL0ES)

Japan International Cooperation Agency
4 = 257D 90BTAOD VIFTC VoY (21D RowBY VRIS FesdBad JBY)

Question Number : 106 Question Id : 7164472956 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33

What has been Andhra Pradesh’s composite score in SDG India Index 2019 prepared by NITI Aavog?
D e3a30 G0 DD DG (SDG) mod.asr Qoisy 2019 &° e50gDBT TodD Daw I Josd?

Options:
1. = 70

2. v 60

3. % 67

L
LA

4. =



Question Number : 107 Question Id : 7164472957 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33

How many districts were there in the state of Andhra Pradesh post its bifurcation?
DD ST(D e50GHBT TR0 I Bgren &) 00?

Options:
1.« 13

L

2. % 1

3 % 19

Question Number : 108 Question Id : 7164472958 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33

What is the strength of legislative assembly, as of 2019, of the state of Andhra Pradesh?
2019 =3, ©odnd? T°g) TRRNE DELIR Lo Jos?

Options:
1. «+ 175

7 % 160
3. % 165

A % 156

Question Number : 109 Question Id : 7164472959 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33

What is the percentage area of Andhra Pradesh out of the total area of India?
ZPOBBT0 010, D0B0 DRGods” SoENBT DHY TBo Jod?

Options:



1. v 4.96%

7 % 3.29%

3. % 5.16%

4. % 10.23%

Question Number : 110 Question Id : 7164472960 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33

Which of the following is the largest district of Andhra Pradesh in terms of its geographical area?
FHIE DRG HOoTT Zod 71" S0FHBTS'D DG B IO?

Options:
Anantapur

1. v ©RedN0o

Srikakulam

7 % IOV

Vizianagaram

3 #% DaohAco

Nellore

4%239_?3&3

Sub-Section Number: 2
Sub-Section Id: 71644714
Question Shuffling Allowed : Yes



Question Number : 111 Question Id : 7164472961 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33

‘AQRT" is related to ‘TJKM’ in the same way as ‘EYZF’ is related to .

AQRT e9:28 "TJKM' 80 Doer0bdodd QG EYZF § R0LI0HOIDA.
Options:
1. v XRSY

9 % MDPK

3 % XVWS

A = QTRE

Question Number : 112 Question Id : 7164472962 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33

If “King’ is related to ‘Palace’ in some way, which of the following best relate to *‘Horse’ in the same way?

25738 Do ‘King’ €998 ‘Palace’s 021000008 90008, 98 DG S0 ar6deS” ‘Horse’ e9derds DO &aavorr
Dototo E0R &otiod?

Options:
1. » Gallop

7 % Scamper

3.« Stable

4 = Sty

Question Number : 113 Question Id : 7164472963 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33



Which number will replace the question mark (?) in the second figure?

Botisd Do) D PF) 950 (?7) @O 258 B0t Doy JD?

Options:
1. « 17

L

2. % 1

3.8 22

Question Number : 114 Question 1d : 7164472964 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33
Study the given bar graph and answer the following question. Qe PG P00 e93[ad0 3, Sob 2T £ VAT

India's Petrol import @5350&-
1 wro0ds 6w Hrbd
: 00 ’ “
350 ) 450
3 5 * w o 400 *
. 280 3%
g *+ o0 » o ¢ 350
3 T 350 320 <
3 o e 300
= E 300 o 220 270 (o]
1 E 250 o
2 200 o
..“_. . 008 L
* o0 i 00
In which year India had to pay the maximum amount of money 0
per hundred tanks of petrol? 2003 2004 2005 2006 2007 2008
Aoy

* Dens Sps® O DBArT0 Jod trgethod’
2 oGS Bocs ErfEHL DS Fdo Qodosr (8Y
D000 ¢Ee) D DYoLV E:080007?

Options:



1. «+ 2007
% % 2004
3 % 2005

4. % 2006

Question Number : 115 Question Id ;: 7164472965 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33

Select the Venn diagram that best represents the relationship between the following classes:

Actresses, Men. Blackboard
S08 OGO D] VOLIOTED) GGV ATDOD D Fardmrd) JocEol:

HORQERD, WDWPED, EPS 59

Options:

exe

2. %

OO



4, =

Question Number : 116 Question Id : 7164472966 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33

Select the option that is different than the rest of the options in a certain manner.
o L 6
2.5 :39551 gaaned aﬁ5méé mﬁ}g's“r;}eﬁ“ éf).;‘)lorrb &Y E}D&S“:}Q JocE od.

Options:
Mosquito

1 = &av

Silverfish

2 % ﬁ:m;:sﬁ |

Salmon

3 3“’@(}35

Question Number : 117 Question Id : 7164472967 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33
Pom is the brother of a girl named Katie. Braddey is unmarried and is the only maternal uncle of a boy named Pony.

Arya is the father of Katie. Aeyna has only two children, one of whom is named Pony. Katie is the maternal
cousin of Pony. How is Arya related to Aeyna?

T 9D e9ery0m, 36 9D 5,008 FEAED. EP BDTITA BT D 0D eeryons 2.8 2.8 WdaTa.
e50] €9 8 36 O30, Bod. ONT-LH G VYLV AFGD &T) D, T70S° 2,688 T 9 D DEF. T aIg),
& Sy Loty S6. &30, OTLD DT ?

Options:



Brother-in-law

1. v e/ era0dd

Father

? % 3 TeTe

Paternal uncle

7 « wwmﬁbcﬁmaﬁl

Maternal uncle

A % DodATD

Question Number : 118 Question 1d : 7164472968 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33

If in a certain coded language *AMERICANIZATION” is written as ‘EAMCRIIANTZANIO’, how will
‘THERMOCHEMISTRY " be written in that code?

208 PBIEDD FE 2705’ ‘AMERICANIZATION' 958 EAMCRIIANTZANIO r groberdd, &5 §& &°
‘THERMOCHEMISTRY’ Jer groieiceiodH?

Options:
1. + ETHORMECHSMIYTR

? % EHTOMREHCSIMYRT
3. » REHTHCOMSIMEYRT

/. % YRTSIMECHOMREHT

Question Number : 119 Question Id : 7164472969 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33



Study the graph of the number of students from three 2013-2018 ;boaf:uej;)mgf eﬁér‘i moé.)dyséejﬁ Do 2.8
colleges A, B and C of a certain university who were
selected in a job interview over the years 2013-2018 and

answer the following question. SvrEreR DO TPORD e300 &2, & 306 D ©

:}g%‘t_ Sésgjmﬂgmo:irﬂé wofs A, B sobodiw C 9 domed

Mumber of students selected for job from 3 different PDATFTFD0 r‘.;)i‘:&oi.
colleges A, B and C of a certain university over the years

20 Resoyrd’ alyn wsié‘aobgna.snﬁmianmns
Setd A, B 2Bt C ed Jurd sveue Derydon Doy

10 20 30 30 50 BO
Number of students selected

IS =N -1

What is the ratio of the average number of students who
were selected from college A in the period of 2013 to 2013 2ol 2015 ane) sP00es” vvare A Mol Jod3Hd
2015 to the average number of students who were

selected from college B in the same period? s e RO, MR D0eiB

3)!3“5{%}&: FAg A% }bo;_\}isg} ey 2t :mbe} JoEs?

Options:

1. = 15:12
? % 13:11
3. % 17:19
A4« 14:11

Question Number : 120 Question Id : 7164472970 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33

Pick the odd one out.
DY DOTP & T JocoFol.

Options:
1. = BCF



7 % PTIV

3.« AEU

4. % HKN

Question Number : 121 Question Id ;: 7164472971 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33
The given table shows the expenditure of a company ey DS, 2014 ood. 2019 DoDdEByG0 HES 28 g0 a308),

(in lakh rupees) per vear over the vears 2014 to 2019.
PESRIREE : D03 (V£ traroiees’) o).

Items= of Expenditure B
Vears P T T " R0IENTRD 3350000 €90T°ED
ary Tranzport Loans e e "
2014 313 95 33 15 48 2350 B’J_j"?soj;)ﬁj WEFOD | D) eD B3 foe
2015 3RO 100 3 285 30
= & oorer | DE
1016 410 110 25 32 40 =
2017 370 102 39 30 13 2014 315 35 3.2 25 48
2018 400 120 42 2 52 2015 380 100 3 28.5 50
2019 450 142 44 34 54 2016 410 110 2.5 32 40
2017 370 102 3.9 20 46
What is the approximate average amount of bonus per | 2018 400 130 4.2 28 52
vear that the company had to pay during the period 2019 450 142 4.4 34 54

between 2014 and 2019? .
2014 @0dasn 2019 &0cs Pwed” S0 RBNTIS DBoerByd Rodrm Dritn

e5* % Bodto Joes?

Options:
Z 48 lakhs

1. v T48 ogen

T 51 lakh

? % I51eosen

T 58 lakh
3 % I58 wgen

¥ 60 lakh
4w T60o0gen



Question Number : 122 Question Id : 7164472972 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33

The given table shows the expenditure of a company RN DYS 2014 Aol 2019 ?"30‘3‘53‘:}0"%‘3& 28 Sodd
(in lakh rupees) per vear over the years 2014 to 2019. fCIT°eY (vg aradrabos”) aroguod.
Years Items of expenditure GERT R wowe djabo
Salary Fuel and | Interest | Taxes EBonus Ao Qﬁ'ﬁ’é ADETe "-".5.‘5:.1 S ah
Transport | on Loans
2014 | 313 93 32 25 48 & s | B2
2015 | 380 100 3 785 50 2014 315 a5 3.2 25 48
2016 | 410 110 23 32 30 2015 180 100 3 2855 |50
2017 [ 370 102 30 30 6 2016 410 10 2.5 32 40
2018 | 400 130 42 28 2 2017 370 102 3.9 30 46
2019 [ 450 142 44 34 34 2018 400 130 4.2 28 52
2019 450 142 4.4 34 54

The total amount of taxes paid by the company during the
CUAND Rl (2014-2019) Zod 3doded Duodo

given period (2014-2019) is approximately how much
DAY D, 9D sro0e” Do Do Bedoes” Joed

percent of the total amount of salary paid during this period?
o907

Options:
1. = 4.25%

7P % 5.25%

3. ¢ 7.63%

A % 8.05%

Question Number : 123 Question Id : 7164472973 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33



Study the given table and answer the following — @y® DHE EFOIDE DR, S0b PF) L VATFTR0

question. QOE.
Results Number of students 0 o
‘L Class Class | Class J’ 53 5
TA 7B 7C 7A iB P e
Passed both the 18 15 17 . 85040 86030
semester exams
Passed semester 1 4 7 2 oy :33:@6‘ 2rfy st 18 15 17
but failed semester 2
: 261 & DB wan G2 | 4 7 2
XA, i P
Passed semester 2 6 7 & &5 Dawe eondart
but failed semester |
PR hﬁa%ﬁzﬁ‘ﬁ“.ﬁmm@él 6 7 6
Failed in both the 2 1 5 & oS eonSarc
semester exams.
Dot HIHES® Do wondTWw | 2 1 5

What is the approximate pass percentage of
Class 7B in both the semester exams? B0t ARG DOLS’, BGMA 7B aig), O

&B0D TS0 Joes?

Options:
1. v 50%

? % 57%

3. % 83%

A % 100%

Question Number : 124 Question Id : 7164472974 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 1/3

Correct Marks: 1 Wrong Marks: 0.33

The given table shows the marks obtained by two students @;‘j(};) 9. egm0h) SBOIL 938 e9d DTEgEIRD
B3 (] (o

Ajay and Ajeet in different subjects. Study the table and 555@ ‘@Q?‘U‘ﬁ& Fob S 20 0 BTEDB0B. HBED

answer the following question.
£4 e9(3[00000 B3R, S0 DTN L1 VATV VOC..

Subject Ajay Mhl;;:nkgm Ajeet M;?;::sm = = e — 5
Physics o0 100 75 100 drdyen oy, ew
Chemistry | 83 100 50 100 ik 50 100 75 100
Biology 75 100 55 100 crabd THo | 85 100 80 100
Math 43 50 43 50 23 wRo 75 100 55 100
Hieddo 45 50 45 50

The difference in mean aggregate percentage marks of the
students Ajay and Ajeet is : DITODeD €203 aBOID RS © B0 D

cm“d:%eg" DEPFO0 TS0

Options:



1. = 4.72%

[~
s
n
b
LN

=]
o

3. % 10.05%

A v 11.43%

Question Number : 125 Question Id : 7164472975 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33
The given table shows the total number of different BN DS 2015 20001 2016 &° 28 S0 DFON0DH DG G570

types of rechargeable lamps A, B, C, D and E (in Brganes ergoine oa; A, B, C, D ot E 0 (dog’) criined.
thousands) sold by a company in 2015 and 2016. Study iz 7 ) - -

the table carefully and answer the following question. ~ DS 2PHOT ©j0DS0 S5 S0 YF) L DATFTTH0 BIL0C.

foegend ro)Y d57en
Years Tvpes of Rechargeable lamp =
Number of units sold in thousands @m&;{] ahr e ;majg SeeT

2015 30 34 28 38 26

DoIBYTD
2016 32 42 30 38 20

2015 30 |34 28 38 26

The number of type B rechargeable lamps sold in 2016 | 2016 3z |42 30 38 |20

was how much percentage of type D rechargeable

lamps sold in 2015? 2016 & @2 B 8o bmrgend erjospe doay, 2015 & ©20 D 6o

Bergend erjopoes” dodh Tdo God?
Options:
1' # 100%

7« 110.5%

3. % 120%

A % 161.5%

Question Number : 126 Question Id : 7164472976 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33



Study the given table carefully and answer the following

question.

Number of students who appeared for a UPSC exam from

five different states of India.

States | A.P. | UP. | M.P Punjab | Kerala
Years
2014 280 | 300 | 250 300 440
1015 20 | 400 | 280 450 400
2016 260 | 450 | 240 320 350
2017 400 | 300 | 400 500 380
2018 350 | 430 | 340 410 20

What is the ratio of the total number of students who
appeared for the exam in 2016 and 2017 from A.P. to the total
number of students from Punjab who appeared in the same

years?
Options:
1. « 33:41
7 x 8552

QN DOHSL FPOSTT 9E[oID0 3, S0d VI D
DATEED0 @EKOC. ROCOTT 0L, DD DD D‘g“ﬁ)

00c UPSC DL DFadd Ioide Do) cFDEEH0.

c‘%‘m 2.0, | ain.d. | abo.d. | Hoard | SOV
"n]oaﬁe‘_iDU"
2014 280 300 250 500 440
2015 320 | 400 280 450 400
2016 260 450 240 320 350
2017 400 | 500 400 500 380
2018 350 | 430 540 410 420

2016 andasn 2017 odSorg" SO D Aol
2OLL DPRTH 2o DO Do, BB =re0e)”
Doare To Aot DOEDH e Dwugo Jorjde

20 DIND Jodh?

Question Number : 127 Question Id : 7164472977 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33



Study the given table carefully to answer the following

S0b ©7) 5 RDATTTHO RS m&é DS PEST

question.
£9¢5{03D00 LOod.

States I\.Iuml?eil' of N.etﬂix subscribers S 2003 & 2004 oo BTLES

(in millions) in the years 2003 & e

2004, SBOTTRR Doady (DoBaisnHes”)

2003 2004 2003 2004
Delhi 37.62 42.38 &h 37.62 42.38
Mumbai 45.26 47.61 20008 45.26 47 .61
Assgm 32.02 40.56 FE 32.02 10.56
Punjab 48.65 41.35 — — e
Kerala 36.36 38.21 =y : :
Bihar 2521 27.87 Sov 36.36 38.21
Uttar Pradesh 67.52 71.34 DFEE 27.21 27.87

&0 nis 67.52 71.34

What is the ratio of the total number of Netflix subscribers
from Delhi who were subscribed in both the yvears together to

the total number of Wetflix subscribers from the state of
Punjab in the same years?

Options:
1. = 1:1

I
Tad

2. %

DTV (10 DB Jod?

&8 T0 A0l DMV oD VODSNTLL S DA
D) DSV ST TEOVL, Doares THo ol 9

RoDONTTOLD SO B0 BRVLOHDY TSy
=] =8 =]

Question Number : 128 Question Id : 7164472978 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 1/3

Correct Marks: 1 Wrong Marks: 0.33




The given table shows the number of candidates from
five different states of India who appeared for an
interview for the post of manager in a bank over the
years 2012 to 2016. Study the table carefully and
answer the following question.

States | Bihar | U.P. | M.P. | Punjab | Kerala
Years
2012 410 300 | 250 280 440
2013 300 400 | 280 20 400
2014 450 430 | 240 260 350
2015 20 300 | 400 400 380
2016 300 430 | 340 350 20

What is the average number of candidates from the
state of ML.P. who appeared for the interview over all
the years?

Options:
1. = 300
7 342
3 % 398
4. % 400

2N DAS 2012 Rooc 2016 DodST-S’ ersadsos™d Hed
DO T°gPe A0C 2.8 erfoes” Dvab DEDS LN
o DFaBR 9200 DODFED LTDRV0G. DHED BRI

€9C{0ID0 B, & Sod DB £ VAFTDo WDL0E.

U"%“'U) D6 | aiwdy | abedy | Doaed el
K}oﬁfﬁﬁbﬂ‘
2012 410 300 250 280 440
2013 500 400 280 320 400
2014 450 450 240 260 350
2015 320 500 400 400 380
2016 500 430 540 350 420

€9} oDBTrES” a0.D TR0 Aol QoL B0 D505

P_eajég_)m 20t "roosp;s 2oEs’?

Question Number : 129 Question 1d : 7164472979 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 1/3

Correct Marks: 1 Wrong Marks: 0.33

The given table shows the classification of students
based on the marks obtained by them in Mathematics
and English in an examination.

Marksout | 40 and | 30 and | 20and | 0 and
of 50 above above above above
Subject
Mathematics 10 34 70 73
English 15 42 75 20

What is the percentage of the number of students
getting at least 60% marks in Mathematics over those
getting at least 40% marks in English?

Options:

N DAS, 2.8 DOLS icdedo 0BT esoffoes” Todd

DIE), 0 BEEOTT DTG0 a@soeasm SN E0H.

50 srap o | 40 30 20 0
&AD swbodw | dodain | SHodaiwn | Sbatin
2B 28 28 28 28
24 e a—
ticdedo 10 34 70 75
esoffo 15 47 75 80

es0(joe5” D0 407 a6 0 FH0DR T8 Sof riedsos”
5500 60% SULHEIY FEODD DTF§ER Dogy AL, TS0

Joeh?



1. %= 20%

7 % 28%

A o 45.33%

Question Number : 130 Question Id : 7164472980 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33

Study the given table carefully and answer the following Iy DS PGS {00 32, 808 DT L RATTED
question.

Expenditure (in million §) of an automobile company EONS
over the years 2012 to 2015 2012 200 2015 200ey0S" e3e5°R008e5 S0 dfoso
b
Items of expenditure Years Enbas e
2012 2013 | 2014 | 2015
Y 328 esomren Hodsyoren
Employee’s Salary 70 7 90 85
Transport 48 60 1 82 2012|2013 | 2014 | 2015
Interest on loans 25 20 14 13
&8 abl Bebo 70 Fa 90 |85
Taxes 4 e 2 6.5
What is the ratio of the expenditure on transport in the i 43 ol 1 —
year 2013 to the total expenditure on transport in all the Sy 5d 25 20 |14 13
years? il
P ERD 4 5 2 6.5
2013 20D6300&5° GTEPLD 900D HIOLPDS 9Dy
RODBYTS” CTPETS) 00 VG0 HHOIFDS DD Jod?
Options:
1. = 2:5
? % 1:4

A v 20:87



Question Number : 131 Question Id : 7164472981 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33

The given bar graph shows the total number of air AN 0 Y 2017 2wbotin 2018 €5° 28 DODTTEM
conditioner of different brands; A, B.C,Dand E (in

thousand numbers) sold by a supplier in 2017 and 2018. DR DS erogd AB,C,D andoin E © Joxbd

Study the graph carefully and answer the following E0A D0 Do R0 (Do 30@5056} SIENE0E.
question. i
TFana) aRgesTe Zlal{es b =0, S0 @-ﬁlﬁ) DATTEH0
QaOC.
o
f O 31
o 50 sa
|
2 ¢ II-I.III-Illl!I.Illflll.lfll.llllflll 28
@ R
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The total number of air conditioners sold in 2017 and oa)eda AC o dopj(Soé’)
2018 together was equal in case of which of the R
following pairs of air conditioner brands? 2017 =oBain 2018 &° =82 0L Do o

Soemd0 202y, S0d TS D Jod HolDdé erog 2
Da0300eT° LTSI &ob?

Options:
Cand E

1. » C wdaiv E

Dand E
9y DawdowE

AandC
3 v A S08asn C

Band E

4. = B s0dain E
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Study the following line graph carefully and answer the  S0& & rayna) Do Zlnlfestiale IR DN 0D
given question.
RATEEA0 QO(0C..

Mumber of curved glass chimaey sold (in handreds) by s compasy from the

yeur 20140 2009 2014 soed 2019 S99 w8 Sobn el O Tre
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What is the difference between the sales of curved glass
chimney for the years 2014 and 2019? 2014 Aol 2019 DodeTroH O Trer DD ©
?.96&)&5“?_)956 IR0 Jos?
Options:
1. = 20
2 200
3. % 500
4, % 900
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The given column graph shows the data of the "gudn® &0 o 2012 ~ood 2016 ‘@ob@bnfgf 28 Sodd
production of automobiles (in thousand numbers) by

three branches A, B and C of a certain Automobile’s 03”56 A, B 20Bain € &9 20D grodo B e‘@,}@

company over the years 2012 to 2016. 290305 EPOfoToD) €565 DSy 03 GTEoTD) (Do
branches A, 5 and C of s cortain utomobile's company 29050¢)°) BrDR0D.
70 over the vear)
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What is the percentage increase in the production of 2014 A0& 2016 256 oS B E@D@@‘S A FPEdo
branch B from 2014 to 20167 Joes?

Options:
1. ¢ 22.2%

7 % 50%

A % 100%
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The given line graph shows the total number of different QNS TR o, 2017 20botw 2018 &5° 28 oD
products A, B, C, D and E (in lakh) that were imported

by a company in 2017 and 2018. Study the graph QDS SHA) DG esygoen A, B, C, D anbdoso B

carefully and answer the following question. (0565°) ©a D006, PO arare 095000 S
45 415 S0l 2T 5 VATTED0 QDO oC..
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The average of A and C types of products that were 2018 &° & DSy A auboin C 057w &a\dov

imported in 2018 was equal to the import of which type

of product in 20172 201e0, 2017 &° D 05205 &G HrLad Stnfoerds

PEaTH0?

Options:
AandB

1. = Aoboin B
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The given circle graph shows the expenditure of a certain YNR YIS GO0, 28 DT }i:uo.;.:a@;){joeﬁﬁ 2D CoTTeD
company on various sectors A. B, C, D, E and F during a
particular year. Study the graph carefully and answer the

following questions. SFDR0O. TPDRD PP GV B3, 30d P VD

A B C.D ExoboonoF dtOOLéJ:IU cﬁ.usb a;.mam

DETTE&0 raajso&.

B
78° |
B
780

Of the total expenditure, approximately was spent on
: 2000 Dyomee’, dorfo F Edo foasremn DD
sector F. = — D
INEle VN
Options:

1. v 12.7%

7 % 12.3%

3. % 10%

A % 20%
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The given bar graph shows the increase in the production QS er6 ro, 2012 &ood 2015 “n)oa@:jtr"ej’ D005 &Y
of corn (in tons) over the years 2012 to 2015. Based on 3 ) = . -
the graph answer the following question. Sthe (eaaia_);]‘e_; ) DOMEOR XS0, T STTCorr
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What is the approximate percentage of growth of cornin 2013 & &F®2% 2015 &° Q) E'HY) DADEL T

. 2
2015 as compared to 20131 AT Joch?

Options:
1. % 19.75%

7 % 10.38%

3 % 18.5%

A « 16.88%
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Study the given circle graph carefully which shows the 2.8 Soewoero CIVE) Deared DN AP0 Y50

meonthly expenditure of a family and answer the following DEPDY FEGT SHOD0 32 208 D9 & VATTTR0

question.
@5350&.
Fuel, 48°
.!i“ payment, @otno 48°
Emn:]znzmn:h__ﬂ | 39" e 081

D860 42°- 3%

Health,54

Education,
58%

If the total monthly expenditure was % 50,000, then how
much money (approximately) was spent on education and

health together? B0 B0 £0 oo ey (R0araiT) oy S7°m?

200 D8 axn T 50,000 e90008, Desg 0BT

Options:
1. % %12,000

2 % 13,650

3 o T15555

4. = %18.000
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The percentage distribution in the given pie chart shows — @D\S ‘D TE'S°D Doded T EA TG G003 evady
the expenditure incurred in manufacturing dishwashers. 5 5w A s s LN
Study the pie chart and answer the following question. ~ ™0 STRDB0E. D T BEHOD0 Do 06 F).

AR AL @5350&.

Various expenditure incurred in
manufacturing Dishwashers

A4 oring airds edby 200 Sgoirw

Direct material
oost
2%

2aE and saudne
oo 22%

Trams portation 9%

daree 9%

Manufacturing
cost 0%

Direct labour cost

1a% DAL 50} S0 Syobo

28%

idwertisement
11%

If, for a certain quantity of dishwashers, the
manufacturer has to pay ¥250,000 as direct material cost,

then what will be the approximate manufacturing costto  ¥250,000 & DBE DDE DD B Do dy O,
be paid for that quantity of dishwashers?

208DV, €A TNG 308, DY DOITEEIS, BaIrOTm

&R TFNGD DYooy AT Baird Hjote Joed?
Options:
1. v ¥340.900

2 % 280,500

3 % T440.800

4. = %420,000
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For which of the following years is the percentage

200D DodBTolf T erod Y oIng) e’

rise/fall in production from the previous year minimum

for branch Y?

Do/ 2 lavlald) £ ‘&}oajeiébtioeff EDQOT 007

Options:

1. % 2015

7« 2014

3 % 2013

A % 2012
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The given pie chart shows the percentage distribution of
the expenditure incurred in manufacturing wireless
headphones. Study the pie chart and answer the question
based on it.

manufactu
ring

overhead

23%

Direct
material
28%

Transport
ation
14%

other cost
17%

If, for a certain quantity of wireless headphones, the
Manager has to pay ¥250,000 as a direct labor cost, then
what will be the approximate amount of Transportation to
be paid for these wireless headphones?

Options:
1. = 160,000

7 « 3194400

3 % 360,200

4. = T 400,000

AN D TG ROOR TET D0 Bo3rdS evcly oo
OI0E), Do TEPD) AFEDB0H. P TE' e9gjaido I
TP STPOOTP D) £ DATEEV0 Q06

DogE awd
R0
28%
darce
s s'ﬁa.ébw
Sgabo 18%

17%

2050¥, PEOD PET DO dws), DPY DBIFEEIS, WD
DOgE 5708 dyoore, I 250,000 SPoerdy o, &
DETD EDDO Garer Fdo DPoerdyd oo Jos?
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The following numbers represent the weights of people on an elevator:

25, 60, 100, 78, 89, 45, 68, 94, 85, 82, 43.

What is the mean of their weights?

S0& Dopfen IDDLES’D L0 LMD ATIF00:

25, 60, 100, 78, 89, 45, 68, 94, 85, 82, 43.

0 exPL CIVE) VT JOEH?

Options:



1. = 7045

7 & 699

3. % 655

A4 = 67
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What is the standard deviation of a data set if the data set has a variance of 0.49?
P03 pA0AS3 0.49 DY €0 GTP0T DN AINE), FATBES DIVD0 Jots?

Options:
1. = 02

7 % 0.14

3. v 07

A = 7
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If coefficient of variation is 0.2 and mean is 50, then standard deviation will be:
De3oes (rego 0.2 s0BoIw 200700 50 e90008, 9N JraTreds Duedo:

Options:
1. « 10

? % 250
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Value of median will always
DOCS (IS0 aJE1Ie) QE"’@J@

Options:
be positive

1. « ma“@éSo [ZPwplaNleln)

be negative

7 % mw@ﬁo 9005

be zero

3 % ?inaﬁnl e9a0)E8005)

depend on scores

4 v 0,000 eTroDE €0810d
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Standard Deviation of a distribution is 4. Adding a constant 6 in each score, new Standard Deviation will be .

Derad(EQerin) g, JParrts Dovdoe 4. Da ) e’ Jorogo 6 D Senpar o, Y FATBE Doedo
eoeEI0A,
Options:

1.+ 4

L

2. %
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What will be the mean of the following data?
308 CTEoBO OIVE), VTR ID?

1.89 ,0.89, 2.89,4.89, 5.89, 6.89, 7.89, 8.89, 1.89, 9.89

Options:
1. % 5.80

7 % 4.89

A % 4.19
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Study the given graph carefully and answer the following U TPDRD 2PISTT 9G010R0 e, Sob DI D

question.
ROTTTRA0 QoG-

{Production of two companies A and B

over the vears] (:JDQ F'Jo&ﬁd::{}“ﬂ'ﬁs A Filalanih) B
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0 i
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Years 2015 2016 2017 2018 2019
RloddnTre
corllvr i = =E
corler i = W =R
For company B, what is the approximate percent increase
in production from 2017 to 2018? €0 B E0, 2017 200 2018 H05 eonBe”

DA TR0 AT Joed?
Options:

1. % 25%

7 % 16.6%

A % 100%
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“The given bar graph shows the sales of sacks of cement (in QNS &6 o, 2017 andasw 2018 ;’oomjhone? A, B C D
thousand numbers) from five different companies A, B, C, D . .
and E in the years 2017 and 2018, 208030 E 29 2 DB S000 odt DR00sS e

)TV (Do P0ae”) SPDRS.
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What is the ratio of the total sales of company D for both the Coc® ‘r’oo&')@DU“EJE?ﬁ o D G308 D0 VDSV, 0
years to the total sales of A for both the years? 3o BODBNTOD A Ty, Ao AT DG (0
QD Joed?

Options:

1. = 31:29
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The given bar graph shows the total number of a certain QN 6 P, 2015 awbasn 2016 &5° EOND
product “X" (in lakh) from 5 different branches of a
company Bl. B2, B3, B4 and B5 that was produced in

2015 and 2016. Study the graph carefully and answer the 01“531 5 -0.35563 EFoDe A0l sl DN &@J@ X m%
following question. = Q! =

Soieads Bl, B2, B3, B4 208a3n BS easn gondey

2060 Do (VES°) AP, T PFaT

eaCIOID0 B RF) L VATEFH0 @D0E.

45
30

20

NO OF PRODUCT "Y' PRODUCED] 1N LAKHS)

B3 B4 B5

Branches of a company

X &3 dha edydon Sopj (LEud’)

O2015 @2016

B4

The number of product ‘X’ produced by branch Bl in
2016 is equal to the number of product ‘X' produced by
which branch/es?

o015 @016

2016 & grod Bl ey 500 X & d Doy, d erod/
D &SNS B X &OE VoS DATFD?

Options:
B2in 2016

1. » 2016 &° B2

B2 and B3 in 2015
7 % 2015 &° B2 2060sw B3

B3 and B4 in 2015 and 2016, respectively
3w addrr 2015 2oboiv 2016 €° B3 swdoin B4

B5in2016
A. v 2016 & BS
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The given line graph shows the profit made by a logistic
company (in million $) from 2014 to 2018.

Profit in Million S
400 380

Q
2014 2015 2016 2017 2018

What was the approximate percentage increase in the
profit made by the logistic company in 2017 over 2014?

Options:

1. % 20.5%

7« 34.8%
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